Math 182 Exam 2 Name: W«f‘g
20 Feb 2018 Point values in }boxes l

1. Consider the region bounded by the graph of y = sin 22 and the z-axis for 2 € [0, §].

(a) Rotating the region about the x-axis generates a solid with volume given by the integral
/2
T / sin® 2z dz,
0

find the volume.
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{(b) Rotating the region about the line z = n generates a solid with volume given by the
integral V&P

/2 L =
27r/ (7w — z)sin 2z dz, %“wgw}ﬁ &\‘ «_—;QN"&@}QQ&%
0

du=~dx V= -cogex

find the volume.
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2. Evaluate.
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3. Evaluate
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Math 182 Exam 2 Given Information

Some trigonometric identities.

1
cos’z = 3 (1 + cos2z)
1
sinfz = 3 (1 — cos2z)
sin2x = 2 sinz cosz

Some integrals.

du = L arctan (u> +
a?+u? a a ¢
du
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sec® u du

cscu du
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secu du = In|secu + tanul+c
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